ECE 342: Electronic Circuits Summer 2024
Problem Set #6 Professor Schutt-Aine
Due Date: Spm, Tue, Jul 9

1. Using incremental model, derive the expression for equivalent impedance of the

configurations shown below. You may assume all transistors are biased in saturation region and

R
Re Re { a
N VB@'VH . . §H
L - Req—T = =
(b) (c)

I'ds #00

27

P
2

(a)

Req
Rg i_

Re R
I ’ -@_I Rg i
L Req _T VB§/\,__{ t Vs Rs
Re - -
(e) =M )

(d) (9)

2. Using the results from Problem 1, determine the equivalent impedance for the configurations

shown below. You may assume all transistors are biased in saturation region and rds #00
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